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Note: Attempt five questions in all, selecting one question 
from each unit. All questions carry equal marks.
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UNIT-I

(MD
1. What are the uses of statistics in the tourism research? 

What do you mean by sample has to be representative 
of the population?
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OR (3TW)
Find the mode, median, lower quartile (Ql) and upper 
quartile (Q3) and coefficient of Q.D. from the following 
data :
Wages 0-10 10-20 20-30 30-40 40-50
No. of Workers 22 38 46 35 20
fHHrdflsId 3Wgf ^T=F, HlfwRFT, f^cTT 
(Qi) afk (Q3) sfh: q.d.

0-10 10-20 20-30 30-40 40-50

w 22 38 46 35 20

UNIT-II

2. What is rank correlation? State the merits and demerits of 
Spearman's rank correlation method.
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Find the regression equation from the following data :

hr w t? rO-rAh h> wm fafa ■jpr 
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OR (3T«^T)

Age of Husband 18 19 20 21 22 23 24 25 26 27
Age of Wife 17 17 18 18 19 19 19 20 21 22
Also calculate the correlation between the ages of 
husbands and wives.
P^RlRsId M TfWH W

■’TfcT TM 18 19 20 21 22 23 24 25 26 27

McO °b"l 17 17 18 18 19 19 19 20 21 22
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UNIT-IH 
(^rf-ni)

3. Fit a straight line trend by the method of least squares to 
the following data:

Years Sales (Thousand Rupees)
2013 38
2014 40
2015 65
2016 72
2017 69
2018 67
2019 95
2020 104
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2013 38
2014 40
2015 65
2016 72
2017 69
2018 67
2019 95
2020 104

OR (3TW)

Construct Index Numbers of price from the following 
data by applying:-
(a) Laspeyers Method.
(b) Paasche Method.
(c) Bowleys Method.
(d) Fisher's Ideal Method.
(e) Marshall-Edgeworth Method.

Commodity 2018 2019
Price Quantity Price Quantity

A 3 18 5 16
B 6 20 7 22
C 5 24 5 10
D 2 19 3 20
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(■n) fafai
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(^)

cl'KJ 2018 2019

’’W ■’j^r *n3ff
A 3 18 5 16
B 6 20 7 22
C 5 24 5 10
D 2 19 3 20

UNIT-IV 

(^JTf-IV)

4. Explain the terms mutually exclusive events and independent 
event. Give one example for each. State and prove the 
addition rule of probability.
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OR (3T«PfT)

Out of 800 families with 4 children each, what percentage 
would be expected to have (a) 2 boys and 2 girls, (b) at 
least one boy, (c) no girls, and (d) at most 2 girls. Assume 
equal probability for boys and girls?

4 800 Tfwn 3 3 tWt Trftw

wft W 2 2 rFgfanf, (Tsi)

$ cfR T3=F ^FT, (IT) rl^Ft t, afk (^T)

2 tl foT^ THH

TTWiapTl RH ^’?

UNIT-V

(F^-v)
5. A wholesaler in apples claims that only 4% of the apples 

supplied by him are defective. A random sample of 600 apples 
contained 36 defective apples. Test the claim of the 
wholesaler.

T^ c£ pef? orot ^FT W t W 3^ KRT Sjqfcf 

cbcKH 4% TsRra f l 600

41^* Ttjf 3 36 fhTjyf «jf=F oqpTRt
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OR (3TW)
What do you mean by estimation? What is a difference 
between Point estimate and interval estimate?
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